# Polynomial Solutions Modulo $p^{s}$ of Differential KZ and Dynamical Equations 

Pavel ETINGOF ${ }^{\mathrm{a}}$ and Alexander VARCHENKO ${ }^{\text {b }}$<br>a) Department of Mathematics, MIT, Cambridge, MA 02139, USA<br>E-mail: etingof@math.mit.edu<br>b) Department of Mathematics, University of North Carolina at Chapel Hill, Chapel Hill, NC 27599-3250, USA<br>E-mail: anv@email.unc.edu

Received April 18, 2023, in final form August 23, 2023; Published online September 01, 2023
https://doi.org/10.3842/SIGMA.2023.061


#### Abstract

We construct polynomial solutions modulo $p^{s}$ of the differential KZ and dynamical equations where $p$ is an odd prime number.


Key words: differential KZ and dynamical equations; polynomial solutions modulo $p^{s}$; hypergeometric integrals

2020 Mathematics Subject Classification: 81R12; 11C08; 14H52

## 1 Introduction

The KZ equations were introduced by Knizhnik and Zamolodchikov [7] to describe the differential equations for conformal blocks on the Riemann sphere. Different versions of the KZ equations appear in mathematical physics, algebraic geometry and the theory of special functions, see, for example, [3, 9]. One of the important properties of the KZ equations is their realization as suitable Gauss-Manin connections. This construction gives a presentation of solutions of the KZ equations by multidimensional hypergeometric integrals, see $[1,2,13]$.

The fact that certain integrals of closed differential forms over cycles satisfy a linear differential equation follows by Stokes' theorem from a suitable cohomological relation, in which the result of the application of the corresponding differential operator to the integrand of an integral equals the differential of a differential form of one degree lower. Such cohomological relations for the KZ equations associated with arbitrary Kac-Moody algebras were developed in [14].

The KZ equations possess a bispectrality property - they have a compatible system of dynamical equations with respect to associated dynamical parameters, see [4, 5, 9, 11, 18].

Let $p$ be an odd prime. In $[15,23]$, the differential KZ equations were considered modulo $p^{s}$, and polynomial solutions modulo $p^{s}$ were constructed as analogs of the hypergeometric integrals. The construction was based on the fact that all cohomological relations described in [14] are defined over $\mathbb{Z}$ and can be reduced modulo $p^{s}$. Studying solutions modulo of $p^{s}$ sheds light on solutions of the KZ equations both over the field of complex numbers and over $p$-adic fields, for example, see [16].

In this paper, we consider the joint system of the differential KZ and differential dynamical equations, the system introduced in [5], and construct polynomial solutions modulo $p^{s}$ of the joint system as analogs of the corresponding hypergeometric integrals with an exponential term. For this purpose, one needs to represent the exponential function $\mathrm{e}^{\lambda t}$ with an integer parameter $\lambda$ by a polynomial in $t$ modulo $p^{s}$. This can be done after replacing $\lambda$ with $p \lambda$.

An interesting problem is to study the $p$-adic limit of the constructed polynomial solutions modulo $p^{s}$ as $s \rightarrow \infty$, see examples of this limit for the differential KZ equations in [22, 23, 24].

The joint system of the KZ and dynamical equations has many versions: differential KZ equations and differential dynamical equations, differential $K Z$ equations and difference dynamical equations, difference KZ equations and differential dynamical equations, difference KZ equations and difference dynamical equations, see, for example, [4, 9, 11, 18]. The polynomial solutions modulo $p^{s}$ are constructed in this paper only for the original joint system of the differential KZ and differential dynamical equations, although there are examples of polynomial solutions modulo $p^{s}$ in other cases, see $[10,12,22]$ and also Appendix A.

In the remainder of the introduction we consider an example.

### 1.1 Solutions over $\mathbb{C}$

Consider the complex master function

$$
\Phi(t, z, \lambda)=\mathrm{e}^{\lambda t} \prod_{i=1}^{2 g+1}\left(t-z_{i}\right)^{-1 / 2}
$$

and the tuple of integrals

$$
\begin{equation*}
I(z, \lambda)=\left(I_{1}(z, \lambda), \ldots, I_{2 g+1}(z, \lambda)\right)=\int_{\delta} \Phi(t, z, \lambda)\left(\frac{1}{t-z_{1}}, \ldots, \frac{1}{t-z_{2 g+1}}\right) \mathrm{d} t \tag{1.1}
\end{equation*}
$$

where $\delta$ is a 1-cycle.
Theorem 1.1. The tuple $I(z, \lambda)$ satisfies the joint system of $K Z$ and dynamical equations

$$
\begin{align*}
& \frac{\partial I_{j}}{\partial z_{i}}=\frac{1}{2} \frac{I_{i}-I_{j}}{z_{i}-z_{j}}, \quad i \neq j  \tag{1.2}\\
& \frac{\partial I_{i}}{\partial z_{i}}=\lambda I_{i}-\frac{1}{2} \sum_{j \neq i} \frac{I_{i}-I_{j}}{z_{i}-z_{j}}  \tag{1.3}\\
& \frac{\partial I_{i}}{\partial \lambda}=z_{i} I_{i}+\frac{1}{2 \lambda} \sum_{j=1}^{n} I_{j} \tag{1.4}
\end{align*}
$$

The system of equations (1.2) and (1.3) is called the KZ equations of this example, the system of equations (1.4) is called the dynamical equation. The solutions $I(z, \lambda)$ are called the hypergeometric solutions.

Proof. The proof uses the following identities:

$$
\begin{aligned}
& \frac{1}{\left(t-z_{i}\right)\left(t-z_{j}\right)}=\frac{1}{z_{i}-z_{j}}\left(\frac{1}{t-z_{i}}-\frac{1}{t-z_{j}}\right) \\
& \frac{\partial}{\partial t} \Phi(t, z, \lambda)=\lambda \Phi(t, z, \lambda)-\frac{1}{2} \Phi(t, z, \lambda) \sum_{j=1}^{2 g+1} \frac{1}{t-z_{j}} \\
& \frac{\partial}{\partial t} \frac{\Phi(t, z, \lambda)}{t-z_{i}}=\Phi(t, z, \lambda)\left(\frac{\lambda}{t-z_{i}}-\frac{3}{2} \frac{1}{\left(t-z_{i}\right)^{2}}-\frac{1}{2} \sum_{j \neq i} \frac{1}{\left(t-z_{i}\right)\left(t-z_{j}\right)}\right)
\end{aligned}
$$

For $j \neq i$, we have

$$
\frac{\partial I_{j}}{\partial z_{i}}=\int \Phi(t, z, \lambda) \frac{1 / 2}{\left(t-z_{i}\right)\left(t-z_{j}\right)} \mathrm{d} t=\frac{1}{2}\left(I_{i}-I_{j}\right)
$$

This proves the first equation. Then

$$
\begin{aligned}
\frac{\partial I_{i}}{\partial z_{i}} & =\int \Phi(t, z, \lambda) \frac{3 / 2}{\left(t-z_{i}\right)^{2}} \mathrm{~d} t \\
& =-\int \frac{\partial}{\partial t} \frac{\Phi(t, z, \lambda)}{t-z_{i}} \mathrm{~d} t+\int \Phi(t, z, \lambda)\left(\frac{\lambda}{t-z_{i}}-\frac{1}{2} \sum_{j \neq i} \frac{1}{\left(t-z_{i}\right)\left(t-z_{j}\right)}\right) \mathrm{d} t \\
& =\lambda I_{i}-\frac{1}{2} \sum_{j \neq i} \frac{I_{i}-I_{j}}{z_{i}-z_{J}}
\end{aligned}
$$

gives the second equation. We also have

$$
\begin{aligned}
\frac{\partial I_{i}}{\partial \lambda} & =\int \Phi(t, z, \lambda) \frac{t-z_{i}+z_{i}}{t-z_{i}} \mathrm{~d} t=\int \Phi(t, z, \lambda) \mathrm{d} t+z_{i} \int \Phi(t, z, \lambda) \frac{1}{t-z_{i}} \mathrm{~d} t \\
& =\frac{1}{\lambda} \int \frac{\partial}{\partial t} \Phi(t, z, \lambda) \mathrm{d} t+\frac{1}{2 \lambda} \int \Phi(t, z, \lambda) \sum_{j=1}^{2 g+1} \frac{1}{t-z_{j}} \mathrm{~d} t+z_{i} \int \Phi(t, z, \lambda) \frac{1}{t-z_{i}} \mathrm{~d} t \\
& =z_{i} I_{i}+\frac{1}{2 \lambda} \sum_{j=1}^{2 g+1} I_{j} .
\end{aligned}
$$

The complex vector space of (multi-valued) solutions of the joint system of KZ and dynamical equations (1.2)-(1.4) is $(2 g+1)$-dimensional. Every solution of the joint system has the integral presentation (1.1) for a suitable cycle $\delta$, see [8, Theorem 6.1] and an example in [8, Introduction].

### 1.2 Exponential function

We have

$$
\mathrm{e}^{\lambda t}=\sum_{m=0}^{\infty} \lambda^{(m)} t^{m}, \quad \lambda^{(m)}=\frac{\lambda^{m}}{m!}, \quad\binom{m+n}{m} \lambda^{(m+n)}=\lambda^{(m)} \lambda^{(m)}, \quad \frac{\mathrm{d}}{\mathrm{~d} \lambda} \lambda^{(m)}=\lambda^{(m-1)} .
$$

We set $\lambda^{(m)}=0$ for $m<0$ by convention.
Let $f(t, z)=\sum_{m=0}^{\infty} b_{m}(z) t^{m}, b_{m}(z) \in \mathbb{Z}_{p}[z]$, where $\mathbb{Z}_{p}$ is the ring of $p$-adic integers and $z=\left(z_{1}, \ldots, z_{2 g+1}\right)$ are parameters. Consider the decomposition

$$
\mathrm{e}^{\lambda t} f(t, z)=\sum_{k=0}^{\infty} c_{k}(z, \lambda) t^{k}
$$

where each $c_{k}(\lambda, z)$ is a linear function in finitely many symbols $\lambda^{(m)}, m=0,1, \ldots$, whose coefficients lie in $\mathbb{Z}_{p}[z]$.

Lemma 1.2. Let $s, \ell$ be positive integers. Then the coefficient of $t^{\ell p^{s}-1}$ in the series $\frac{\mathrm{d}}{\mathrm{d} t}\left(\mathrm{e}^{\lambda t} f(t, z)\right)$ is divisible by $p^{s}$, that is, all coefficients of the corresponding linear function in symbols $\lambda^{(m)}$, $m \geq 0$, are divisible by $p^{s}$.

Proof. It is enough to prove the lemma for $f(t)=t^{a}$. Then

$$
\begin{aligned}
\frac{\mathrm{d}}{\mathrm{~d} t} \mathrm{e}^{\lambda t} t^{a} & =\sum_{m=0}^{\infty}\left(\lambda \cdot \lambda^{(m)} t^{m+a}+a \lambda^{(m)} t^{m+a-1}\right)=\sum_{m=0}^{\infty}\left((m+1) \lambda^{(m+1)} t^{m+a}+a \lambda^{(m)} t^{m+a-1}\right) \\
& =\sum_{k=0}^{\infty}\left((k-a+1) \lambda^{(k-a+1)} t^{k}+a \lambda^{(k-a+1)} t^{k}\right)=\sum_{k=0}^{\infty}(k+1) \lambda^{(k-a+1)} t^{k} .
\end{aligned}
$$

Lemma 1.3. If $\lambda \in \mathbb{Z}_{p}$, then $p^{k} \lambda^{(k)} \in \mathbb{Z}_{p}$ for all $k \geq 0$. If $s$ is a positive integer and $k>s \frac{p-1}{p-2}$, then $p^{k} \lambda^{(k)} \in p^{s} \mathbb{Z}_{p}$.

Proof. The maximal power of $p$ dividing $k$ ! equals $\left[\frac{k}{p}\right]+\left[\frac{k}{p^{2}}\right]+\left[\frac{k}{p^{3}}\right]+\cdots$ which is not greater than $\frac{k}{p}+\frac{k}{p^{2}}+\frac{k}{p^{3}}+\cdots=\frac{k}{p-1}$. Hence the power of $p$ dividing $\frac{p^{k}}{k!}$ is not less than $k-\frac{k}{p-1}=k \frac{p-2}{p-1}>0$. Hence $p^{k} \lambda^{(k)} \in \mathbb{Z}_{p}$. We have $k \frac{p-2}{p-1} \geq s$ if $k \geq s \frac{p-1}{p-2}$.

Denote

$$
d(s)=\left[s \frac{p-1}{p-2}\right]+1, \quad E_{s}(t)=\sum_{k=0}^{d(s)} \frac{t^{k}}{k!}
$$

Corollary 1.4. If $\lambda \in \mathbb{Z}_{p}$, then $\mathrm{e}^{p \lambda t} \in \mathbb{Z}_{p}[[t]], E_{s}(p \lambda t) \in \mathbb{Z}_{p}[t]$ and

$$
\begin{aligned}
& \mathrm{e}^{p \lambda t} \equiv E_{s}(p \lambda t) \quad\left(\bmod p^{s}\right) \\
& \frac{\partial}{\partial t} E_{s}(p \lambda t) \equiv p \lambda E_{s}(p \lambda t), \quad \frac{\partial}{\partial \lambda} E_{s}(p \lambda t) \equiv p t E_{s}(p \lambda t) \quad\left(\bmod p^{s}\right) \\
& E_{s}(p \lambda(u+v)) \equiv E_{s}(p \lambda u) E_{s}(p \lambda v) \quad\left(\bmod p^{s}\right)
\end{aligned}
$$

### 1.3 Remarks on $p^{r}$

Let $v_{p}(a)$ denote the $p$-adic evaluation of $a$.
Let $r_{1}, r_{2}$ be relatively prime positive integers. Denote $r=r_{1} / r_{2}$. Assume that $r>1 /(p-1)$. Then for a positive integer $k$, we have

$$
v_{p}\left(p^{k r} / k!\right)=\left(k r-\left(\left[\frac{k}{p}\right]+\left[\frac{k}{p^{2}}\right]+\cdots\right)\right)>k\left(r-\frac{1}{p-1}\right)>0
$$

Hence, if $\lambda \in \mathbb{Z}_{p}\left[p^{1 / r_{2}}\right]$, then $p^{k r} \lambda^{(k)} \in \mathbb{Z}_{p}\left[p^{1 / r_{2}}\right]$. Moreover, if $s$ is a positive integer and $k>s \frac{p-1}{r(p-1)-1}$, then $p^{k r} \lambda^{(k)} \in p^{s} \mathbb{Z}_{p}\left[p^{1 / r_{2}}\right]$.

Denote

$$
d(r, s)=\left[s \frac{p-1}{r(p-1)-1}\right]+1, \quad E_{r, s}(t)=\sum_{k=0}^{d(r, s)} \frac{t^{k}}{k!}
$$

If $\lambda \in \mathbb{Z}_{p}\left[p^{1 / r_{2}}\right]$, then $\mathrm{e}^{p^{r} \lambda t} \in \mathbb{Z}_{p}\left[p^{1 / r_{2}}\right][[t]], E_{r, s}\left(p^{r} \lambda t\right) \in \mathbb{Z}_{p}\left[p^{1 / r_{2}}\right][t]$ and

$$
\begin{aligned}
& \mathrm{e}^{p^{r} \lambda t} \equiv E_{r, s}\left(p^{r} \lambda t\right) \quad\left(\bmod p^{s}\right) \\
& \frac{\partial}{\partial t} E_{r, s}\left(p^{r} \lambda t\right) \equiv p^{r} \lambda E_{r, s}\left(p^{r} \lambda t\right) \\
& \frac{\partial}{\partial \lambda} E_{r, s}\left(p^{r} \lambda t\right) \equiv p^{r} t E_{r, s}\left(p^{r} \lambda t\right) \quad\left(\bmod p^{s}\right) \\
& E_{r, s}\left(p^{r} \lambda(u+v)\right) \equiv E_{r, s}\left(p^{r} \lambda u\right) E_{r, s}\left(p^{r} \lambda v\right) \quad\left(\bmod p^{s}\right)
\end{aligned}
$$

If $r=1 /(p-1)$, then

$$
v_{p}\left(p^{k /(p-1)} / k!\right)=\left(\frac{k}{p-1}-\left(\left[\frac{k}{p}\right]+\left[\frac{k}{p^{2}}\right]+\cdots\right)\right)>0
$$

and $\mathrm{e}^{p^{1 /(p-1)} t} \in \mathbb{Z}_{p}\left[p^{1 /(p-1)}\right][[t]]$ but $v_{p}\left(p^{k /(p-1)} / k!\right)$ does not grow as $k \rightarrow \infty$, and so we get an infinite series rather than a polynomial.

### 1.4 Reformulation of the equations

Change the variable $\lambda \mapsto p \lambda$. Then the KZ and dynamical equations take the form

$$
\begin{align*}
& \frac{\partial I_{j}}{\partial z_{i}}=\frac{1}{2} \frac{I_{i}-I_{j}}{z_{i}-z_{j}}, \quad i \neq j,  \tag{1.5}\\
& \frac{\partial I_{i}}{\partial z_{i}}=p \lambda I_{i}-\frac{1}{2} \sum_{j \neq i} \frac{I_{i}-I_{j}}{z_{i}-z_{j}},  \tag{1.6}\\
& \frac{\partial I_{i}}{\partial \lambda}=p z_{i} I_{i}+\frac{1}{2 \lambda} \sum_{j=1}^{2 g+1} I_{j} . \tag{1.7}
\end{align*}
$$

For any positive integer $s$, we construct below some vectors of polynomials

$$
I(z, \lambda)=\left(I_{1}(z, \lambda), \ldots, I_{2 g+1}(z, \lambda)\right)
$$

with coefficients in $\mathbb{Z}_{p}$ which satisfy the KZ equations (1.5), (1.6) modulo $p^{s}$ if $\lambda \in \mathbb{Z}_{p}$ and satisfy the dynamical equations (1.7) modulo $p^{s}$ if $\lambda \in \mathbb{Z}_{p}^{\times}$.

### 1.5 Solutions modulo $p^{s}$

For a positive integer $s$, define

$$
\begin{aligned}
& \Phi_{s}^{o}(t, z)=\prod_{i=1}^{2 g+1}\left(t-z_{i}\right)^{\left(p^{s}-1\right) / 2}, \quad \Phi_{s}(t, z, \lambda)=E_{s}(p \lambda t) \Phi_{s}^{o}(t, z) \\
& \Psi_{s}^{o}(t, z)=\Phi_{s}^{o}(t, z)\left(\frac{1}{t-z_{1}}, \cdots, \frac{1}{t-z_{2 g+1}}\right), \quad \Psi_{s}(t, z, \lambda)=E_{s}(p \lambda t) \Psi_{s}^{o}(t, z) .
\end{aligned}
$$

Consider the Taylor expansions

$$
\Psi_{s}^{o}(t, z)=\sum_{m=0}^{(2 g+1)\left(p^{s}-1\right) / 2-1} c_{m}^{o}(z) t^{m}, \quad \Psi_{s}(t, z, \lambda)=\sum_{d=0}^{(2 g+1)\left(p^{s}-1\right) / 2-1+d(s)} c_{d}(z, \lambda) t^{d}
$$

where each $c_{m}^{o}(z)$ is a vector of polynomials in $z$ with integer coefficients, and

$$
c_{d}(z, \lambda)=\sum_{m=0}^{d} p^{d-m} \lambda^{(d-m)} c_{m}^{o}(z) .
$$

For any positive integer $\ell$, denote

$$
I^{\ell}(z, \lambda)=c_{\ell p^{s}-1}(z, \lambda)
$$

All coordinates of this vector are polynomials in $z, \lambda$ with coefficients in $\mathbb{Z}_{p}$.
Theorem 1.5. Let $\ell$ be a positive integer. If $\lambda \in \mathbb{Z}_{p}$, then $I^{\ell}(z, \lambda)$ is a solution modulo $p^{s}$ of the KZ equations (1.5), (1.6). If $\lambda \in \mathbb{Z}_{p}^{\times}$, then $I^{\ell}(z, \lambda)$ is a solution modulo $p^{s}$ of the dynamical equations (1.7).

We call such solutions the $p^{s}$-hypergeometric solutions of the joint system of the KZ and dynamical equations.

Proof. The proof uses the following identities:

$$
\begin{aligned}
& \frac{1}{\left(t-z_{i}\right)\left(t-z_{j}\right)}=\frac{1}{z_{i}-z_{j}}\left(\frac{1}{t-z_{i}}-\frac{1}{t-z j}\right), \\
& \frac{\partial}{\partial t} \Phi_{s}(t, z, \lambda) \equiv p \lambda \Phi_{s}(t, z, \lambda)+\frac{p^{s}-1}{2} \Phi_{s}(t, z, \lambda) \sum_{j=1}^{2 g+1} \frac{1}{t-z_{j}}\left(\bmod p^{s}\right), \\
& \frac{\partial}{\partial t} \frac{\Phi_{s}(t, z, \lambda)}{t-z_{i}} \equiv \Phi_{s}(t, z, \lambda)\left(\frac{p \lambda}{t-z_{i}}+\frac{p^{s}-3}{2} \frac{1}{\left(t-z_{i}\right)^{2}}+\frac{p^{s}-1}{2} \sum_{j \neq i} \frac{1}{\left(t-z_{i}\right)\left(t-z_{j}\right)}\right)
\end{aligned}
$$

modulo $p^{s}$. For $j \neq i$, we have

$$
\begin{aligned}
\frac{\partial}{\partial z_{i}} \Phi_{s}(t, z, \lambda) \frac{1}{t-z_{j}} & =\Phi(t, z, \lambda) \frac{1-p^{s}}{2} \frac{1}{\left(t-z_{i}\right)\left(t-z_{j}\right)} \\
& =\frac{1-p^{s}}{2} \Phi_{s}(t, z, \lambda)\left(\frac{1}{t-z_{i}}-\frac{1}{t-z_{j}}\right) .
\end{aligned}
$$

Take the coefficient of $t^{\ell p^{s}-1}$ in both sides of the equation. As the result, we obtain modulo $p^{s}$,

$$
\frac{\partial I_{j}^{\ell}}{\partial z_{i}}(z, \lambda) \equiv \frac{1}{2} \frac{I_{i}^{\ell}(z, \lambda)-I_{j}^{\ell}(z, \lambda)}{z_{i}-z_{j}}, \quad i \neq j .
$$

We have

$$
\begin{aligned}
\frac{\partial}{\partial z_{i}} \Phi_{s}(t, z, \lambda) \frac{1}{t-z_{i}} & =\Phi_{s}(t, z, \lambda) \frac{3-p^{s}}{2} \frac{1}{\left(t-z_{i}\right)^{2}} \\
& \equiv-\frac{\partial}{\partial t} \frac{\Phi_{s}(t, z, \lambda)}{t-z_{i}}+\Phi_{s}(t, z, \lambda)\left(\frac{p \lambda}{t-z_{i}}+\frac{p^{s}-1}{2} \sum_{j \neq i} \frac{1}{\left(t-z_{i}\right)\left(t-z_{j}\right)}\right) .
\end{aligned}
$$

Take the coefficient of $t^{\ell p^{s}-1}$ in both sides of the equation. As the result, we obtain modulo $p^{s}$,

$$
\frac{\partial I_{i}^{\ell}}{\partial z_{i}}(z, \lambda) \equiv p \lambda I_{i}^{\ell}(z, \lambda)-\frac{1}{2} \sum_{j \neq i} \frac{I_{i}^{\ell}(z, \lambda)-I_{j}^{\ell}(z, \lambda)}{z_{i}-z_{J}} .
$$

Notice that $\frac{\partial}{\partial t} \frac{\Phi_{s}(t, z, \lambda)}{t-z_{i}}$ does not contribute to this result by Lemma 1.2.
We also have modulo $p^{s}$,

$$
\begin{aligned}
\frac{\partial}{\partial \lambda} \Phi_{s}(t, z, \lambda) \frac{1}{t-z_{i}} & \equiv p \Phi_{s}(t, z, \lambda) \frac{t-z_{i}+z_{i}}{t-z_{i}}=p \Phi_{s}(t, z, \lambda)+p z_{i} \Phi_{s}(t, z, \lambda) \frac{1}{t-z_{i}} \\
& \equiv \frac{1}{\lambda} \frac{\partial}{\partial t} \Phi_{s}(t, z, \lambda)+\frac{1}{\lambda} \frac{1-p^{s}}{2} \Phi_{s}(t, z, \lambda) \sum_{j=1}^{2 g+1} \frac{1}{t-z_{j}}+p z_{i} \Phi_{s}(t, z, \lambda) \frac{1}{t-z_{i}} .
\end{aligned}
$$

Take the coefficient of $t^{\ell p^{s}-1}$ in both sides of the equation. As the result, we obtain modulo $p^{s}$,

$$
\frac{\partial I_{i}^{\ell}}{\partial \lambda}(z, \lambda) \equiv p z_{i} I_{i}^{\ell}(z, \lambda)+\frac{1}{2 \lambda} \sum_{j=1}^{2 g+1} I_{j}^{\ell}(z, \lambda)
$$

Notice that the coefficient of $t^{p^{s}-1}$ in $\frac{1}{\lambda} \frac{\partial}{\partial t} \Phi_{s}(t, z, \lambda)$ is zero modulo $p^{s}$ since $\lambda$ is a unit in $\mathbb{Z}_{p}$ by assumption. The theorem is proved.

### 1.6 Properties of $\boldsymbol{p}^{s}$-hypergeometric solutions

Lemma 1.6. Assume that $\lambda \in \mathbb{Z}_{p}^{\times}$and

$$
\begin{equation*}
p^{s}+2 g-1>s \frac{2 p-2}{p-2} \tag{1.8}
\end{equation*}
$$

Then a $p^{s}$-hypergeometric solution $I^{\ell}(z, \mu)$ is zero unless $\ell=1, \ldots, g$.
Proof. The degree of the polynomial $\Psi_{s}^{o}(t, z)$ with respect to $t$ equals

$$
(2 g+1) \frac{p^{s}-1}{2}-1=(g+1) p^{s}-1-\frac{p^{s}+2 g+1}{2}
$$

The degree of the polynomial $E_{s}(p \lambda t)$ with respect to $t$ is not greater than $d(s) \leq s \frac{p-1}{p-2}+1$. Hence the degree of $\Psi_{s}(t, z, \mu)$ is not greater than

$$
(g+1) p^{s}-1-\frac{p^{s}+2 g+1}{2}+s \frac{p-1}{p-2}+1=(g+1) p^{s}-1-\frac{1}{2}\left(p^{s}+2 g-1-s \frac{2 p-2}{p-2}\right) .
$$

If inequality (1.8) holds, then the polynomial $\Psi_{s}(t, z, \lambda)$ does not have monomials of degree $\ell p^{s}-1$ for $\ell>g$.

For any $p^{s}$-hypergeometric solution $I^{\ell}(z, \lambda)$, consider its $\lambda$-independent term $I^{\ell}(z, 0)=$ $\left(I_{1}^{\ell}(z, 0), \ldots, I_{2 g+1}^{\ell}(z, 0)\right)$. This is a vector of polynomials in $z$ with integer coefficients. It is a solution modulo $p^{s}$ of the KZ equations (1.5) and (1.6) with $\lambda=0$. We have

$$
\sum_{j=1}^{2 g+1} I_{j}^{\ell}(z, 0) \equiv 0 \quad\left(\bmod p^{s}\right)
$$

since this sum is the coefficient of $t^{\ell p^{s}-1}$ in

$$
\sum_{j=1}^{2 g+1} \frac{\Phi_{s}^{o}(t, z)}{t-z_{j}}=\frac{2}{p^{s}-1} \frac{\partial \Phi_{s}^{o}}{\partial t}(t, z)
$$

The solution $I^{\ell}(z, \lambda)$ is a $\lambda$-deformation of the vector $I^{\ell}(z, 0)$.
Theorem 1.7 ([22, Lemma 7.3]). Assume that $p^{s}>2 g+1$. Consider the $\lambda$-independent terms $I^{1}(z, 0), \ldots, I^{g}(z, 0)$ of the $p^{s}$-hypergeometric solutions $I^{1}(z, \lambda), \ldots, I^{g}(z, \lambda)$. Project them to $\mathbb{F}_{p}[z]^{2 g+1}$. Then the projections are linearly independent over the ring $\mathbb{F}_{p}[z]$.

### 1.7 A generalization

Let $r_{1}, r_{2}$ be relatively prime positive integers. Denote $r=r_{1} / r_{2}$. Assume that $r>1 /(p-1)$. Change the variable $\lambda \rightarrow p^{r} \lambda$ in the KZ and dynamical equations (1.2), (1.3), (1.4). Then the equations take the form

$$
\begin{align*}
& \frac{\partial I_{j}}{\partial z_{i}}=\frac{1}{2} \frac{I_{i}-I_{j}}{z_{i}-z_{j}}, \quad i \neq j,  \tag{1.9}\\
& \frac{\partial I_{i}}{\partial z_{i}}=p^{r} \lambda I_{i}-\frac{1}{2} \sum_{j \neq i} \frac{I_{i}-I_{j}}{z_{i}-z_{j}},  \tag{1.10}\\
& \frac{\partial I_{i}}{\partial \lambda}=p^{r} z_{i} I_{i}+\frac{1}{2 \lambda} \sum_{j=1}^{2 g+1} I_{j} . \tag{1.11}
\end{align*}
$$

For a positive integer $s$, define

$$
\Psi_{r, s}(t, z, \lambda)=E_{r, s}\left(p^{r} \lambda t\right) \prod_{i=1}^{2 g+1}\left(t-z_{i}\right)^{\left(p^{s}-1\right) / 2}\left(\frac{1}{t-z_{1}}, \ldots, \frac{1}{t-z_{2 g+1}}\right)
$$

Consider the Taylor expansion $\Psi_{r, s}(t, z, \lambda)=\sum_{d} c_{d}(z, \lambda) t^{d}$. For any positive integer $\ell$, denote $I^{\ell}(z, \lambda)=c_{\ell p^{s}-1}(z, \lambda)$. All coordinates of this vector are polynomials in $z, \lambda$ with coefficients in $\mathbb{Z}_{p}\left[p^{1 / r_{2}}\right]$.
Theorem 1.8. Let $\ell$ be a positive integer. If $\lambda \in \mathbb{Z}_{p}\left[p^{1 / r_{2}}\right]$, then $I^{\ell}(z, \lambda)$ is a solution modulo $p^{s}$ of the $K Z$ equations (1.9), (1.10). If $\lambda \in\left(\mathbb{Z}_{p}\left[p^{1 / r_{2}}\right]\right)^{\times}$, then $I^{\ell}(z, \lambda)$ is a solution modulo $p^{s}$ of the dynamical equations (1.11).

The proof is the same as the proof of Theorem 1.5. Theorem 1.5 is a special case of Theorem 1.8 for $r=1$.

Notice that for degree reasons, Theorem 1.8 gives for every $s$ only finitely many solutions $I^{\ell}(z, \lambda)$.

If $r=1 /(p-1)$ and $s$ is a positive integer, we may define

$$
\Psi_{1 /(p-1), s}(t, z, \lambda)=\mathrm{e}^{\mathrm{p}^{1 /(p-1)} \lambda t} \prod_{i=1}^{2 g+1}\left(t-z_{i}\right)^{\left(p^{s}-1\right) / 2}\left(\frac{1}{t-z_{1}}, \ldots, \frac{1}{t-z_{2 g+1}}\right)
$$

and then expand this vector into a power series in $t: \Psi_{1 /(p-1), s}(t, z, \lambda)=\sum_{d} c_{d}(z, \lambda) t^{d}$. For any positive integer $\ell$, denote $I^{\ell}(z, \lambda)=\epsilon_{\ell p^{s}-1}(z, \lambda)$. All coordinates of this vector are polynomials in $z, \lambda$ with coefficients in $\mathbb{Z}_{p}\left[p^{1 /(p-1)}\right]$.
Theorem 1.9. Let $\ell$ be a positive integer. If $\lambda \in \mathbb{Z}_{p}\left[p^{1 /(p-1)}\right]$, then $I^{\ell}(z, \lambda)$ is a solution modulo $p^{s}$ of the KZ equations (1.9), (1.10) with $r=1 /(p-1)$ If $\lambda \in\left(\mathbb{Z}_{p}\left[p^{1 /(p-1)}\right]\right)^{\times}$, then $I^{\ell}(z, \lambda)$ is a solution modulo $p^{s}$ of the dynamical equations (1.11) with $r=1 /(p-1)$.

Notice that this theorem gives infinitely many solutions $I^{\ell}(z, \lambda)$.
Remark 1.10. Another possibility to extend the construction of polynomial solutions is to replace the ring $\mathbb{Z}_{p}\left[p^{r}\right]$ by another $p$-adic ring, e.g., $\mathbb{Z}_{p}[\zeta]$, where $\zeta$ is a $p^{m}$-th root of 1 .

### 1.8 Exposition of material

In Section 2, we describe the hypergeometric solutions of the joint system of the differential KZ and dynamical equations associated with $\mathfrak{s l}_{2}$ and explain their reduction to polynomial solutions modulo $p^{s}$. In Section 2.6, we briefly comment on how the results of Section 2 are extended to the joint system of the differential KZ and dynamical equations associated with arbitrary simple Lie algebras. In Appendix A, we consider an example and explain how to construct the polynomial solutions modulo $p^{s}$ of qKZ difference equations.

## 2 The $\mathfrak{s l}_{2}$ differential KZ and dynamical equations

### 2.1 Equations

Let $e, f, h$ be the standard basis of the complex Lie algebra $\mathfrak{s l}_{2}$ with relations $[e, f]=h$, $[h, e]=2 e,[h, f]=-2 f$. Denote

$$
\Omega=e \otimes f+f \otimes e+\frac{1}{2} h \otimes h \in \mathfrak{s l}_{2} \otimes \mathfrak{s l}_{2}
$$

the Casimir element.

Given $n$, for any $x \in \mathfrak{s l}_{2}$, let $x^{(i)} \in U\left(\mathfrak{s l}_{2}\right)^{\otimes n}$ be the element equal to $x$ in the $i$-th factor and to 1 in other factors. Similarly, for $1 \leq i<j \leq n$, let $\Omega^{(i, j)} \in U\left(\mathfrak{s l}_{2}\right)^{\otimes n}$ be the element equal to $\Omega$ in the $i$-th and $j$-th factors and to 1 in other factors.

Let $z_{1}, \ldots, z_{n} \in \mathbb{C}$ be distinct and $\lambda \in \mathbb{C}^{\times}$. For $i=1, \ldots, n$, introduce the Gaudin Hamiltonians and the dynamical Hamiltonian by the formulas

$$
\begin{aligned}
& H_{i}\left(z_{1}, \ldots, z_{n}, \lambda\right)=\frac{\lambda}{2} h^{(i)}+\sum_{j \neq i} \frac{\Omega^{(i, j)}}{z_{i}-z_{j}} \in\left(U\left(\mathfrak{s l}_{2}\right)\right)^{\otimes n} \\
& D\left(z_{1}, \ldots, z_{n}, \lambda\right)=\sum_{i=1}^{n} \frac{z_{i}}{2} h^{(i)}+\sum_{i, j=1}^{n} \frac{f^{(i)} \mathrm{e}^{(j)}}{\lambda}
\end{aligned}
$$

Let $\otimes_{i=1}^{n} V_{i}$ be a tensor product of $\mathfrak{s l}_{2}$-modules and $\kappa \in \mathbb{C}^{\times}$. The system of differential equations on a $\otimes_{i=1}^{n} V_{i}$-valued function $I\left(z_{1}, \ldots, z_{n}, \lambda\right)$,

$$
\begin{align*}
& \frac{\partial I}{\partial z_{i}}=\frac{1}{\kappa} H_{i}\left(z_{1}, \ldots, z_{n}, \lambda\right) I, \quad i=1, \ldots, n,  \tag{2.1}\\
& \frac{\partial I}{\partial \lambda}=\frac{1}{\kappa} D\left(z_{1}, \ldots, z_{n}, \lambda\right) I, \tag{2.2}
\end{align*}
$$

is called the system of KZ and dynamical equations. The system depends on the parameter $\kappa$.

## $2.2 \quad \mathfrak{S l}_{2}$-modules

For a nonnegative integer $i$, denote by $L_{i}$ the $(i+1)$-dimensional module with a basis $v_{i}, f v_{i}, \ldots$, $f^{i} v_{i}$ and action

$$
\begin{aligned}
& f \cdot f^{k} v_{i}=f^{k+1} v_{i} \quad \text { for } \quad k=0, \ldots, i-1, \\
& h \cdot f^{k} v_{i}=(i-2 k) f^{k} v_{i} \quad \text { for } \quad k=0, \ldots, i, \\
& e \cdot f^{k} v_{i}=k(i-k+1) f^{k-1} v_{i} \quad \text { for } \quad k=1, \ldots, i,
\end{aligned}
$$

$f \cdot f^{i} v_{i}=0, e \cdot v_{i}=0$.
For $\vec{m}=\left(m_{1}, \ldots, m_{n}\right) \in \mathbb{Z}_{\geq 0}^{n}$, denote $|\vec{m}|=m_{1}+\cdots+m_{n}$ and $L^{\otimes \vec{m}}=L_{m_{1}} \otimes \cdots \otimes L_{m_{n}}$. For $J=\left(j_{1}, \ldots, j_{n}\right) \in \mathbb{Z}_{\geq 0}^{n}$, with $j_{s} \leq m_{s}$ for $s=1, \ldots, n$, the vectors

$$
f_{J} v:=f^{j_{1}} v_{m_{1}} \otimes \cdots \otimes f^{j_{n}} v_{m_{n}}
$$

form a basis of $L^{\otimes \vec{m}}$. We have

$$
\begin{aligned}
& f \cdot f_{J} v=\sum_{s=1}^{n} f_{J+1_{s}} v, \quad h \cdot f_{J} v=(|m|-2|J|) f_{J} v, \\
& e \cdot f_{J} v=\sum_{s=1}^{n} j_{s}\left(m_{s}-j_{s}+1\right) f_{J-1_{s}} v,
\end{aligned}
$$

where $1_{s}=(0, \ldots, 0,1,0, \ldots, 0)$ with 1 staying at the $s$-th place.
For $w \in \mathbb{Z}$, introduce the weight subspace $L^{\otimes \vec{m}}[w]=\left\{v \in L^{\otimes \vec{m}} \mid h . v=w v\right\}$. We have the weight decomposition $L^{\otimes \vec{m}}=\oplus_{k=0}^{|m|} L^{\otimes \vec{m}}[|\vec{m}|-2 k]$. Denote

$$
\mathcal{I}_{k}=\left\{J \in \mathbb{Z}_{\geq 0}^{n}| | J \mid=k, j_{s} \leq m_{s}, s=1, \ldots, n\right\} .
$$

The vectors $\left(f_{J} v\right)_{J \in \mathcal{I}_{k}}$ form a basis of $L^{\otimes \vec{m}}[|\vec{m}|-2 k]$.

### 2.3 Solutions over $\mathbb{C}$

Given $k, n \in \mathbb{Z}_{>0}, \vec{m}=\left(m_{1}, \ldots, m_{n}\right) \in \mathbb{Z}_{>0}^{n}, \kappa \in \mathbb{C}^{\times}$, denote $t=\left(t_{1}, \ldots, t_{k}\right), z=\left(z_{1}, \ldots, z_{n}\right)$. Define the master function

$$
\begin{aligned}
\Phi(t, z, \lambda):= & \Phi\left(t_{1}, \ldots, t_{k}, z_{1}, \ldots, z_{n}, \lambda\right)=\mathrm{e}^{\lambda \sum_{l=1}^{n} z_{l} / 2 \kappa-\lambda \sum_{i=1}^{k} t_{i} / \kappa} \\
& \times \prod_{i<j}\left(z_{i}-z_{j}\right)^{m_{i} m_{j} / 2 \kappa} \prod_{1 \leq i \leq j \leq k}\left(t_{i}-t_{j}\right)^{2 / \kappa} \prod_{l=1}^{n} \prod_{i=1}^{k}\left(t_{i}-z_{l}\right)^{-m_{l} / \kappa} .
\end{aligned}
$$

For any function or differential form $F\left(t_{1}, \ldots, t_{k}\right)$, denote

$$
\begin{aligned}
& \operatorname{Sym}_{t}\left[F\left(t_{1}, \ldots, t_{k}\right)\right]=\sum_{\sigma \in S_{k}} F\left(t_{\sigma_{1}}, \ldots, t_{\sigma_{k}}\right), \\
& \operatorname{Alt}_{t}\left[F\left(t_{1}, \ldots, t_{k}\right)\right]=\sum_{\sigma \in S_{k}}(-1)^{|\sigma|} F\left(t_{\sigma_{1}}, \ldots, t_{\sigma_{k}}\right) .
\end{aligned}
$$

For $J=\left(j_{1}, \ldots, j_{n}\right) \in \mathcal{I}_{k}$, define the weight function

$$
W_{J}(t, z)=\frac{1}{j_{1}!\ldots j_{n}!} \operatorname{Sym}_{t}\left[\prod_{s=1}^{n} \prod_{i=1}^{j_{s}} \frac{1}{t_{j_{1}+\cdots+j_{s-1}+i}-z_{s}}\right]
$$

For example,

$$
\begin{aligned}
& W_{(1,0, \ldots, 0)}=\frac{1}{t_{1}-z_{1}}, \quad W_{(2,0, \ldots, 0)}=\frac{1}{t_{1}-z_{1}} \frac{1}{t_{2}-z_{1}}, \\
& W_{(1,1,0, \ldots, 0)}=\frac{1}{t_{1}-z_{1}} \frac{1}{t_{2}-z_{2}}+\frac{1}{t_{2}-z_{1}} \frac{1}{t_{1}-z_{2}} .
\end{aligned}
$$

The function

$$
W(t, z)=\sum_{J \in \mathcal{I}_{k}} W_{J}(t, z) f_{J} v
$$

is the $L^{\otimes \vec{m}}[|\vec{m}|-2 k]$-valued vector weight function.
Consider the $L^{\otimes \vec{m}}[|\vec{m}|-2 k]$-valued function

$$
\begin{equation*}
I^{(\delta)}\left(z_{1}, \ldots, z_{n}, \lambda\right)=\int_{\delta(z, \lambda)} \Phi(t, z, \lambda) W(t, z) \mathrm{d} t_{1} \wedge \cdots \wedge \mathrm{~d} t_{k} \tag{2.3}
\end{equation*}
$$

where $\delta(z, \lambda)$ in $\{(z, \lambda)\} \times \mathbb{C}_{t}^{k}$ is a horizontal family of $k$-dimensional cycles of the twisted homology defined by the multivalued function $\Phi(t, z, \lambda)$, see, for example, [20, 21]. The cycles $\delta(z, \lambda)$ are multi-dimensional analogs of Pochhammer double loops.

Theorem 2.1 ([5, 14]). The function $I^{(\delta)}(z, \lambda)$ is a solution of the KZ and dynamical equations (2.1) and (2.2).

The solutions in (2.3) are called the hypergeometric solutions.
The equations (1.2), (1.3), (1.4) in the Introduction and their solutions (1.1) are identified with equations (2.1), (2.2) for the weight subspace $L_{1}^{\otimes(2 g+1)}[n-2]$ and their hypergeometric solutions (2.3) up to a gauge transformation.

In Section 2.4, we sketch the proof of Theorem 2.1 following [5, 14]. The intermediate statement in this proof will be used later when constructing solutions modulo $p^{s}$ of the KZ and dynamical equations. The proof is based on the following cohomological relations.

### 2.4 Identities for differential forms

It is convenient to reformulate the definition of the hypergeometric integrals (2.3). Given $k, n \in \mathbb{Z}_{>0}$ and a multi-index $J=\left(j_{1}, \ldots, j_{n}\right)$ with $|J| \leq k$, denote

$$
\begin{aligned}
a_{J}=a_{J, 1} \wedge a_{J, 2} \wedge \cdots \wedge a_{J,|J|}:= & \frac{\mathrm{d}\left(t_{1}-z_{1}\right)}{t_{1}-z_{1}} \wedge \cdots \wedge \frac{\mathrm{~d}\left(t_{j_{1}}-z_{1}\right)}{t_{j_{1}}-z_{1}} \wedge \frac{\mathrm{~d}\left(t_{j_{1}+1}-z_{2}\right)}{t_{j_{1}+1}-z_{2}} \wedge \cdots \\
& \wedge \frac{\mathrm{~d}\left(t_{j_{1}+\cdots+j_{n-1}+1}-z_{n}\right)}{t_{j_{1}+\cdots+j_{n-1}+1}-z_{n}} \wedge \cdots \wedge \frac{\mathrm{~d}\left(t_{j_{1}+\cdots+j_{n}}-z_{n}\right)}{t_{j_{1}+\cdots+j_{n}}-z_{n}}
\end{aligned}
$$

Here $a_{J, \ell}$ is the $\ell$-th factor of the product in the right-hand side.
Denote

$$
\begin{aligned}
& b_{J}= b_{J, 1} \wedge b_{J, 2} \wedge \cdots \wedge b_{J,|J|}:= \\
& \frac{\mathrm{d} t_{1}}{t_{1}-z_{1}} \wedge \cdots \wedge \frac{\mathrm{~d} t_{j_{1}}}{t_{j_{1}}-z_{1}} \wedge \frac{\mathrm{~d} t_{j_{1}+1}}{t_{j_{1}+1}-z_{2}} \wedge \cdots \\
& \wedge \frac{\mathrm{~d} t_{j_{1}+\cdots+j_{n-1}+1}}{t_{j_{1}+\cdots+j_{n-1}+1}-z_{n}} \wedge \cdots \wedge \frac{\mathrm{~d} t_{j_{1}+\cdots+j_{n}}}{t_{j_{1}+\cdots+j_{n}}-z_{n}} \\
& c_{J}= \sum_{l=1}^{|J|}(-1)^{l+1} b_{J, 1} \wedge b_{J, 2} \wedge \cdots \wedge \widehat{b_{J, l}} \wedge \cdots \wedge b_{J, k}
\end{aligned}
$$

Define

$$
\alpha_{J}=\frac{1}{j_{1}!\cdots j_{n}!} \mathrm{Alt}_{t_{1}, \ldots, t_{k}}\left[a_{J}\right], \quad \beta_{J}=\frac{1}{j_{1}!\cdots j_{n}!} \operatorname{Alt}_{t_{1}, \ldots, t_{k}}\left[c_{J}\right]
$$

Remark 2.2. Recall that we have $k$ variables $t_{1}, t_{2}, \ldots, t_{k}$. The differential form $a_{J}$ is of degree $|J|=j_{1}+\cdots+j_{n} \leq k$ and depends on the variables $t_{1}, t_{2}, \ldots, t_{j_{1}+\cdots+j_{n}}$ only. While, the differential form $\alpha_{J}$ is of degree $j_{1}+\cdots+j_{n}$ and depends on all the variables $t_{1}, t_{2}, \ldots, t_{k}$.

If $|J|=k$, then for any fixed $z \in \mathbb{C}^{n}$, we have the identity

$$
\alpha_{J}=W_{J}(t, z) \mathrm{d} t_{1} \wedge \cdots \wedge \mathrm{~d} t_{k}
$$

on $\{z\} \times \mathbb{C}^{k}$. Define

$$
\alpha=\sum_{|J|=k} \alpha_{J} f_{J} v, \quad \beta=\sum_{|J|=k} \beta_{a} J f_{J} v
$$

Example 2.3. For $k=n=2$, we have

$$
\alpha_{(2,0)}=\frac{\mathrm{d}\left(t_{1}-z_{1}\right)}{t_{1}-z_{1}} \wedge \frac{\mathrm{~d}\left(t_{2}-z_{1}\right)}{t_{2}-z_{1}}, \quad \beta_{(2,0)}=\frac{\mathrm{d} t_{2}}{t_{2}-z_{1}}-\frac{\mathrm{d} t_{1}}{t_{1}-z_{1}}
$$

The hypergeometric integrals (2.3) can be defined in terms of the differential forms $\alpha_{J}$ :

$$
I^{(\delta)}\left(z_{1}, \ldots, z_{n}, \lambda\right)=\int_{\delta(z, \lambda)} \Phi \alpha=\sum_{J \in \mathcal{I}_{k}}\left(\int_{\delta(z, \lambda)} \Phi \alpha_{J}\right) f_{J} v
$$

Theorem 2.4 ([5, 15]).
(i) We have the following algebraic identity for differential forms in $t$, $z$ depending on parameter $\lambda$ :

$$
\begin{equation*}
\kappa \mathrm{d}_{t, z}(\Phi(t, z, \lambda) \alpha)=\sum_{l=1}^{n} H_{i}(z, \lambda) \mathrm{d} z_{i} \wedge \Phi(t, z, \lambda) \alpha \tag{2.4}
\end{equation*}
$$

where $\mathrm{d}_{t, z}$ denotes the differential with respect to variables $t, z$.
(ii) For any fixed $z$, $\lambda$, we have the following algebraic identity for differential forms in $t$ depending on parameters $z, \lambda$ :

$$
\begin{equation*}
\kappa \frac{\partial}{\partial \lambda}(\Phi(t, z, \lambda) \alpha)=D(t, z, \lambda) \Phi(t, z, \lambda) \alpha+\frac{1}{\lambda} \mathrm{~d}_{t}(\Phi(t, z, \lambda) \beta) \tag{2.5}
\end{equation*}
$$

where $\mathrm{d}_{t}$ denotes the differential with respect to variables $t$.
The assumptions in part (ii) mean that all differentials $\mathrm{d} z_{1}, \ldots, \mathrm{~d} z_{n}$ appearing in $\alpha$ must be put to zero to obtain identity (2.5).

Proof. Identity (2.4) follows from [15, Theorem 7.5.2 ${ }^{\prime \prime}$ ] and [5, Theorem 3.1]. Identity (2.5) follows from [5, Theorem 3.2].

Integrating both sides of identities (2.4) and (2.5) over the cycle $\delta(z, \lambda)$ we conclude that the integral $\int_{\delta(z, \lambda)} \Phi(t, z, \lambda) \alpha$ satisfies the KZ and dynamical equations.

### 2.5 Solutions modulo $\boldsymbol{p}^{s}$

Given $k, n \in \mathbb{Z}_{>0}, \vec{m}=\left(m_{1}, \ldots, m_{n}\right) \in \mathbb{Z}_{>0}^{n}, \kappa \in \mathbb{Q}^{\times}$, let $p>2$ be a prime number such that $p$ does not divide the numerator of $\kappa$. Change the variable $\lambda \rightarrow p \lambda$ in the KZ and dynamical equations (2.1), (2.2). Then the equations take the form

$$
\begin{align*}
\frac{\partial I}{\partial z_{i}} & =\frac{1}{\kappa}\left(p \frac{\lambda}{2} h^{(i)}+\sum_{j \neq i} \frac{\Omega^{(i, j)}}{z_{i}-z_{j}}\right) I, \quad i=1, \ldots, n  \tag{2.6}\\
\frac{\partial I}{\partial \lambda} & =\frac{1}{\kappa}\left(p \sum_{i=1}^{n} \frac{z_{i}}{2} h^{(i)}+\sum_{i, j=1}^{n} \frac{f^{(i)} \mathrm{e}^{(j)}}{\lambda}\right) I \tag{2.7}
\end{align*}
$$

Choose positive integers $M_{l}$ for $l=1, \ldots, n, M_{i, j}$ for $1 \leq i<j \leq n$, and $M^{0}$, such that

$$
M_{s} \equiv-\frac{m_{s}}{\kappa}, \quad M_{i, j} \equiv \frac{m_{i} m_{j}}{2 \kappa}, \quad M^{0} \equiv \frac{2}{\kappa} \quad\left(\bmod p^{s}\right)
$$

Define the master polynomial

$$
\begin{aligned}
\Phi_{s}(t, z, \lambda)= & \prod_{l=1}^{n} E_{s}\left(p \frac{z_{l} \lambda}{2 \kappa}\right) \prod_{i=1}^{n} E_{s}\left(-p \frac{t_{i} \lambda}{\kappa}\right) \times \\
& \times \prod_{1 \leq i<j \leq n}\left(z_{i}-z_{j}\right)^{M_{i, j}} \prod_{1 \leq i \leq j \leq k}\left(t_{i}-t_{j}\right)^{M^{0}} \prod_{s=1}^{n} \prod_{i=1}^{k}\left(t_{i}-z_{s}\right)^{M_{s}}
\end{aligned}
$$

Consider the $L^{\otimes \vec{m}}[|\vec{m}|-2 k]$-valued function

$$
\Psi_{s}(t, z, \lambda)=\sum_{J \in \mathcal{I}_{k}} \Phi_{s}(t, z, \lambda) W_{J}(t, z) f_{J} v
$$

This is a polynomial in $t, z, \lambda$ with coefficients in $\mathbb{Z}_{p}$. Consider the Taylor expansion

$$
\Psi_{s}(t, z, \lambda)=\sum_{\mathrm{d}_{1}, \ldots, \mathrm{~d}_{k}} c_{\mathrm{d}_{1}, \ldots, \mathrm{~d}_{k}}(z, \lambda) t_{1}^{\mathrm{d}_{1}} \ldots t_{k}^{\mathrm{d}_{k}}
$$

For any vector $\ell=\left(\ell_{1}, \ldots, \ell_{k}\right)$ with positive integer coordinates, denote

$$
I^{\ell}(z, \lambda)=c_{\ell_{1} p^{s}-1, \ldots, \ell_{k} p^{s}-1}(z, \lambda)
$$

All coordinates of this vector are polynomials in $z, \lambda$ with coefficients in $\mathbb{Z}_{p}$.

Theorem 2.5. Let $\ell=\left(\ell_{1}, \ldots, \ell_{k}\right)$ be a vector with positive integer coordinates. If $\lambda \in \mathbb{Z}_{p}$, then $I^{\ell}(z, \lambda)$ is a solution modulo $p^{s}$ of the KZ equations (2.6). If $\lambda \in \mathbb{Z}_{p}^{\times}$, then $I^{\ell}(z, \lambda)$ is a solution modulo $p^{s}$ of the dynamical equations (2.7).

We call such solutions the $p^{s}$-hypergeometric solutions of the joint system of the KZ and dynamical equations.

Proof. The polynomial $\Psi_{s}(t, z, \lambda)$ satisfies identities (2.4) and (2.5) modulo $p^{s}$. Taking the coefficient of $t_{1}^{\ell_{1} p^{s}-1} \ldots t_{k}^{\ell_{k} p^{s}-1}$ in these identities kills the differentials with respect to $t$ by Lemma 1.2. This proves the theorem.

Remark 2.6. We observed in Section 1.7 that Theorem 1.5 can be generalized to Theorem 1.8 by replacing $p$ with $p^{r}$. Theorem 2.5 is generalized in the same way. We leave this exercise to readers.

### 2.6 Equations for other Lie algebras

The KZ and dynamical equations are defined for any simple Lie algebra $\mathfrak{g}$ or more generally for any Kac-Moody algebra, see, for example, [5, 14]. Similarly to what is done in Section 2.5, we can construct polynomial solutions modulo $p^{s}$ of those KZ and dynamical equations.

The construction of the polynomial solutions modulo $p^{s}$ in the $\mathfrak{s l}_{2}$ case is based on the algebraic identities for differential forms (2.4), (2.5). For an arbitrary Kac-Moody algebra, these algebraic identities were developed in [5, 14].

## A Solutions modulo $p^{s}$ of the $q K Z$ equations

In Sections 1 and 2, we constructed solutions modulo $p^{s}$ of the differential KZ and dynamical equations by first $p^{s}$-approximating the integrand of the hypergeometric solutions and then taking the coefficients of the monomials $t^{\ell p^{s}-1}$ in the Taylor expansion of the approximated integrand. In this appendix, we show that the same idea can be applied to the qKZ difference equations, but instead of considering the Taylor expansion of the approximated integrand and then taking the coefficients of the monomials $t^{\ell p^{s}-1}$ we first take the expansion of the $p^{s}$-approximated integrand into a sum of Pochhammer polynomials $[t]_{m}$ and then take the coefficients of the Pochhammer polynomials with indices $m=\ell p^{s}-1$. See this approach in [10] for the qKZ equations with no exponential term. On the hypergeometric solutions of the qKZ difference equations see, for example, [17, 19].

In this paper, we consider only a baby example of the qKZ equations which illustrates these constructions.

## A. 1 Baby qKZ equation

Let $f(t)$ be a meromorphic function and $a \in \mathbb{C}$. The sum

$$
\int_{(a)} f(t) \mathrm{d}_{1} t:=\sum_{n \in \mathbb{Z}} \operatorname{Res}_{t=a+n} f(t),
$$

if defined, is called a Jackson integral. If $f(t)=g(t+1)-g(t)$ is a discrete differential, then the Jackson integral equals zero.

Consider the master function

$$
\begin{equation*}
\Phi(t, z, \lambda)=\mathrm{e}^{\lambda t} \frac{\Gamma(t-z)^{2}}{\Gamma\left(t-z+\frac{1}{2}\right) \Gamma\left(t-z-\frac{1}{2}\right)} \tag{A.1}
\end{equation*}
$$

and the Jackson integral

$$
I(z, \lambda)=\int_{(z)} \Phi(t, z, \lambda) \mathrm{d} t
$$

Lemma A.1. The function $I(z, \lambda)$ satisfies the difference equation

$$
\begin{equation*}
\mathrm{e}^{\lambda} I(z-1, \lambda)=I(z, \lambda) \tag{A.2}
\end{equation*}
$$

Equation (A.2) is our baby qKZ equation and the function $I(z, \lambda)$ is its hypergeometric solution. More general qKZ equations and their hypergeometric solutions can be found, for example, in [3, 6, 17, 19].

Proof. We have

$$
\begin{aligned}
& \Phi(t+1, z, \lambda)=\frac{\mathrm{e}^{\lambda}(t-z)^{2}}{\left(t-z+\frac{1}{2}\right)\left(t-z-\frac{1}{2}\right)} \Phi(t, z, \lambda), \\
& \Phi(t, z-1, \lambda)=\frac{(t-z)^{2}}{\left(t-z+\frac{1}{2}\right)\left(t-z-\frac{1}{2}\right)} \Phi(t, z, \lambda), \\
& \int_{(z)} \Phi(t+1, z, \lambda) d_{1} t=\int_{(z)} \Phi(t, z, \lambda) d_{1} t .
\end{aligned}
$$

These relations imply (A.2).

## A. 2 Pochhammer polynomials

Let $m$ be a positive integer. Define the Pochhammer polynomial

$$
(t)_{m}=\prod_{i=1}^{m}(t-i+1)
$$

We have

$$
\begin{equation*}
(t+1)_{m}=(t)_{m} \frac{t+1}{t-m+1}, \quad(t+1)_{m}-(t)_{m}=m(t)_{m-1} . \tag{A.3}
\end{equation*}
$$

## A. 3 Polynomial $\boldsymbol{p}^{s}$-approximations

Let $p$ be an odd prime. Let $r_{1}, r_{2}$ be relatively prime positive integers. Denote $r=r_{1} / r_{2}$. Assume that $r>1 /(p-1)$. Change the variable $\lambda \mapsto p^{r} \lambda$. Then equation (A.2) takes the form:

$$
\begin{equation*}
\mathrm{e}^{p^{p} \lambda} I(z-1, \lambda)=I(z, \lambda) . \tag{A.4}
\end{equation*}
$$

For any positive integer $s$, define the master polynomial

$$
\begin{equation*}
\Phi_{r, s}(t, z, \lambda)=E_{r, s}\left(p^{r} \lambda t\right)(t-z-1)_{\frac{p^{s}-1}{2}}^{2}(t-z-1)_{\frac{p^{s}+1}{2}} . \tag{A.5}
\end{equation*}
$$

This is a polynomial in $t, z, \lambda$ with coefficients in $\mathbb{Z}_{p}\left[p^{1 / r_{2}}\right]$. Expand it into a sum of Pochhammer polynomials in the variable $t$,

$$
\Phi_{r, s}(t, z, \lambda)=\sum_{d} c_{d}(z, \lambda)(t)_{d} .
$$

Denote $I_{r, s}(z, \lambda)=c_{p^{s}-1}(z, \lambda)$.

Theorem A.2. The polynomial $I_{r, s}(z, \lambda)$ is a solution modulo $p^{s}$ of the $q K Z$ difference equation (A.4).

Proof. Let $F(t)=\sum_{d} a_{d}(t)_{d}$ be a polynomial. Denote $\operatorname{Coef}(F)=a_{p^{s}-1}$. We have

$$
\begin{align*}
& \Phi_{r, s}(t+1, z, \lambda)=\frac{E_{r, s}\left(p^{r} \lambda\right)(t-z)^{2}}{\left(t-z-\frac{p^{s}-1}{2}\right)\left(t-z-\frac{p^{s}+1}{2}\right)} \Phi_{r, s}(t, z, \lambda), \\
& \Phi_{r, s}(t, z-1, \lambda)=\frac{(t-z)^{2}}{\left(t-z-\frac{p^{s}-1}{2}\right)\left(t-z-\frac{p^{s}+1}{2}\right)} \Phi_{r, s}(t, z, \lambda), \\
& \operatorname{Coef}\left(\Phi_{r, s}(t, z, \lambda)\right) \equiv \operatorname{Coef}\left(\Phi_{r, s}(t+1, z, \lambda)\right) \quad\left(\bmod p^{s}\right), \tag{A.6}
\end{align*}
$$

where the congruence (A.6) follows from (A.3). Hence

$$
E_{r, s}\left(p^{r} \lambda\right) I_{r, s}(z-1, \lambda) \equiv I_{r, s}(z, \lambda) \quad\left(\bmod p^{s}\right),
$$

and $I_{r, s}(z, \lambda)$ is a solution modulo $p^{s}$ of the qKZ equation (A.4).
More general qKZ equations are given by multidimensional Jackson integrals whose integrand is a product of exponential factors and ratios of gamma functions like in (A.1). To construct polynomial solutions modulo $p^{s}$ of the qKZ equations, we replace the exponential factors in the integrand by the product of the corresponding functions $E_{r, s}(t)$, replace the ratios of gamma functions by the corresponding Pochhammer polynomial as in (A.5), expand the result into Pochhammer polynomials and take the suitable coefficients of that expansion like in Theorem A.2.

## Acknowledgements

Pavel Etingof was supported in part by NSF grant DMS-1916120, Alexander Varchenko was supported in part by NSF grant DMS-1954266.

## References

[1] Christe P., Flume R., On the identification of finite operator algebras in two-dimensional conformally invariant field theories, Phys. Lett. B 188 (1987), 219-225.
[2] Date E., Jimbo M., Matsuo A., Miwa T., Hypergeometric-type integrals and the $\mathfrak{s l}(2, \mathbb{C})$ KnizhnikZamolodchikov equation, Internat. J. Modern Phys. B 4 (1990), 1049-105.
[3] Etingof P., Frenkel I.B., Kirillov Jr. A.A., Lectures on representation theory and Knizhnik-Zamolodchikov equations, Math. Surveys Monogr., Vol. 58, American Mathematical Society, Providence, RI, 1998.
[4] Etingof P., Varchenko A., Dynamical Weyl groups and applications, Adv. Math. 167 (2002), 74-127, arXiv:math.QA/0011001.
[5] Felder G., Markov Y., Tarasov V., Varchenko A., Differential equations compatible with KZ equations, Math. Phys. Anal. Geom. 3 (2000), 139-177, arXiv:math.QA/0001184.
[6] Frenkel I.B., Reshetikhin N.Yu., Quantum affine algebras and holonomic difference equations, Comm. Math. Phys. 146 (1992), 1-60.
[7] Knizhnik V.G., Zamolodchikov A.B., Current algebra and Wess-Zumino model in two dimensions, Nuclear Phys. B 247 (1984), 83-103.
[8] Markov Y., Tarasov V., Varchenko A., The determinant of a hypergeometric period matrix, Houston J. Math. 24 (1998), 197-220, arXiv:alg-geom/9709017.
[9] Maulik D., Okounkov A., Quantum groups and quantum cohomology, Astérisque 408 (2019), ix+209 pages, arXiv:1211.1287.
[10] Mukhin E., Varchenko A., Solutions of the $\mathfrak{s l}_{2}$ qKZ equations modulo an integer, arXiv:2208.09721.
[11] Okounkov A., Smirnov A., Quantum difference equation for Nakajima varieties, Invent. Math. 229 (2022), 1203-1299, arXiv:1602.09007.
[12] Rimányi R., Varchenko A., The $\mathbb{F}_{p}$-Selberg integral of type $A_{n}$, Lett. Math. Phys. 111 (2021), 71, 24 pages, arXiv:2012.01391.
[13] Schechtman V., Varchenko A., Integral representations of $N$-point conformal correlators in the WZW model, Preprint MPI/89-51, Max-Planck Institute, Bonn, 1989.
[14] Schechtman V., Varchenko A., Arrangements of hyperplanes and Lie algebra homology, Invent. Math. 106 (1991), 139-194.
[15] Schechtman V., Varchenko A., Solutions of KZ differential equations modulo p, Ramanujan J. 48 (2019), 655-683, arXiv:1707.02615.
[16] Smirnov A., Varchenko A., The p-adic approximations of vertex functions via $3 D$-mirror symmetry, arXiv:2302.03092.
[17] Tarasov V., Varchenko A., Geometry of $q$-hypergeometric functions as a bridge between Yangians and quantum affine algebras, Invent. Math. 128 (1997), 501-588, arXiv:q-alg/9604011.
[18] Tarasov V., Varchenko A., Duality for Knizhnik-Zamolodchikov and dynamical equations, Acta Appl. Math. 73 (2002), 141-154, arXiv:math.QA/0112005.
[19] Tarasov V., Varchenko A., Landau-Ginzburg mirror, quantum differential equations and qKZ difference equations for a partial flag variety, J. Geom. Phys. 184 (2023), 104711, 58 pages, arXiv:2203.03039.
[20] Varchenko A., Multidimensional hypergeometric functions and representation theory of Lie algebras and quantum groups, Adv. Ser. Math. Phys., Vol. 21, World Scientific Publishing Co., Inc., River Edge, NJ, 1995.
[21] Varchenko A., Special functions, KZ type equations, and representation theory, CBMS Reg. Conf. Ser. Math., Vol. 98, American Mathematical Society, Providence, RI, 2003.
[22] Varchenko A., Dynamical and qKZ equations modulo $p^{s}$ : an example, Math. Notes 112 (2022), 1003-1016, arXiv:2205.03980.
[23] Varchenko A., Notes on solutions of KZ equations modulo $p^{s}$ and $p$-adic limit $s \rightarrow \infty$ (with an appendix by Steven Sperber and Varchenko), in Hypergeometry, Integrability and Lie Theory, Contemp. Math., Vol. 780, American Mathematical Society, Providence, RI, 2022, 309-347, arXiv:2103.01725.
[24] Varchenko A., Zudilin W., Congruences for Hasse-Witt matrices and solutions of $p$-adic KZ equations, arXiv:2108.12679.

